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 CNCC-2  

CERTIFICATE IN NUTRITION AND  

CHILD CARE 

Term-End Examination 

February, 2021 

 

CNCC-2 : ORGANIZING CHILD CARE SERVICES 

Time : 3 hours Maximum Marks : 100 

Note :  Question no. 1 is compulsory. Answer any other 

four questions.  

 

1. (a) Briefly differentiate between the following : 

   53=15 

(i) Free play and Structured play 

(ii) Growth and Development 

(iii) Animism and Altruism 

(iv) Gross motor development and Fine 

motor development  

(v) Story narration and Role play 

No. of Printed Pages : 8 



CNCC-2 2 

(b) The following is a list of activities. State one 

main area in which each activity fosters 

development. 51=5 

(i) Catching and throwing a ball 

(ii) Drawing 

(iii) Identifying all square shapes from a 

collection of different shapes 

(iv) Building a ‘house’ using blocks 

(iv) Making objects with clay 

2. ‘Play is one of the most important activities of 

the young child.’ 

 Do you agree with this statement ? Give reasons 

and examples in support of your view. 20 

3. (a) Suggest five ways using which the parents 

can promote the language development of 

their child during the first year after birth. 

Give examples. 52=10 

(b) Suggest five ways/activities using which a 

preschool teacher can develop the qualities 

of cooperation and altruism in her group of 

preschool children. 52=10 
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4. (a) You want to strengthen a young child’s 

skills of matching, classification and 

seriation. Suggest one activity for each skill 

appropriate for a four-year-old. 3+3+4=10 

(b) What are the advantages of including art 

activities in the curriculum of a preschool 

centre ? 10 

5. (a) List the four categories of nutrients and 

state the role of each in maintaining good 

health. Give examples of three food items 

from each category. 34=12 

(b) Is a jam sandwich a balanced breakfast for a 

five-year-old child ? Give reasons for your 

views. 4 

(c) Suggest a balanced breakfast for a  

five-year-old child. 4 

6. (a) Describe the various forms of punishment. 5 

(b) Explain the principles of using punishment, 

giving examples. 15 
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7. (a) Describe five aspects that you will keep in 

mind when arranging the indoor space in a 

preschool centre. 10 

(b) Describe one activity that you will plan for 

each of the following : 5+5=10 

(i) Developing eye-hand coordination in a 

one-year-old child. 

(ii) Developing imagination in a  

three-year-old child. 
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 gr.EZ.gr.gr.-2  

nmofU Ed§ ~mb XoI^mb _| à_mU-nÌ 

gÌm§V narjm 

\$adar,  2021 

 
gr.EZ.gr.gr.-2 : ~mb XoI^mb godmAm| H$m g§JR>Z 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : àíZ g§. 1 A{Zdm`© h¡ & eof _| go {H$Ýht Mma àíZm| Ho$ CÎma 

Xr{OE &  
 

1. (H$) g§jon _| {ZåZ{b{IV Ho$ ~rM A§Va ~VmBE : 53=15 

(i) _wº$ Iob Am¡a g§a{MV Iob 

(ii) d¥{Õ Am¡a {dH$mg 

(iii) OrdËdmamonU Am¡a namonH$m[aVm 

(iv) ñWyb-{H«$`mË_H$ {dH$mg Am¡a gyú_-{H«$`mË_H$ 

{dH$mg 

(v) H$hmZr gwZmZm Am¡a ^y{_H$m A{^Z` 
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(I) ZrMo Iob-{H«$`mAm| H$s EH$ gyMr Xr JB© h¡ & ~VmBE 

àË`oH$ J{V{d{Y {dH$mg Ho$ {H$g EH$ _w»` joÌ _| 

~‹T>mdm XoVr h¡ &  51=5 

(i) J|X nH$‹S>Zm Am¡a \|$H$Zm 

(ii) S´>mB§J H$aZm 

(iii) {d{^Þ AmH$mam| Ho$ g§J«h _| go g^r dJm©H$mam| 
H$mo nhMmZZm 

(iv) JwQ>H$m| go ‘Ka’ ~ZmZm 

(v) {MH$Zr {_Å>r go MrµO| ~ZmZm 

2. ‘Iob N>moQ>o ~ƒm| H$s g~go _hÎdnyU© J{V{d{Y`m| _| go EH$ 

h¡ &’  

 Š`m Amn Bg H$WZ go gh_V h¢ ? AnZo _V Ho$ nj _| 

H$maU Am¡a CXmhaU Xr{OE &  20 

3. (H$) Eogo nm±M VarHo$ gwPmBE {OZHo$ Ûmam _mVm-{nVm OÝ_ 

Ho$ ~mX àW_ df© Ho$ Xm¡amZ AnZo ~ƒo Ho$ ^mfm`r 

{dH$mg H$mo ~‹T>mdm Xo gH$Vo h¢ & 52=10 

(I) Eogo nm±M VarHo$/J{V{d{Y`m± gwPmBE {OZH$m à`moJ H$aHo$ 

embmnyd© {e{jH$m AnZo embmnyd© ~ƒm| Ho$ g_yh _| 

gh`moJ Am¡a namonH$m[aVm H$s ^mdZmAm| H$mo {dH${gV 

H$a gH$Vr h¡ & 52=10 
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4. (H$) Amn N>moQ>o ~ƒm| _| {_bmZ H$aZo, dJuH$aU H$aZo Am¡a 

H«$_~Õ H$aZo Ho$ H$m¡ebm| H$mo {dH${gV H$aZm MmhVo  

h¢ & àË`oH$ H$m¡eb Ho$ {bE EH$ Eogr J{V{d{Y 

gwPmBE Omo Mma-dfu` ~ƒo Ho$ {bE Cn ẁº$ hmo & 
   3+3+4=10 

(I) embmnyd© Ho$ÝÐ H$s nmR>çM`m© _| H$bm-g§~§Yr {H«$`mAm| 

H$mo em{_b H$aZo Ho$ Š`m bm^ h¢ ? 10 

5. (H$) nmofH$-VÎdm| H$s Mma lo{U`m| H$mo gyMr~Õ H$s{OE 

Am¡a AÀN>o ñdmñÏ` H$mo ~ZmE aIZo _| àË`oH$ H$s 

^y{_H$m ~VmBE & àË`oH$ loUr go VrZ ImÚ-nXmWm] Ho$ 

CXmhaU Xr{OE &  34=12 

(I) Š`m O¡_ dmbm g¢S>{dM nm±M-dfu` ~ƒo Ho$ {bE gw~h 

H$m g§Vw{bV ZmíVm h¡ ? AnZo {dMma/_V Ho$ H$maU 

~VmBE &  4 

(J) nm±M-dfu` ~ÀMo Ho$ {bE gw~h H$m g§Vw{bV ZmíVm 

gwPmBE & 4 

6. (H$) X§S> Ho$ {d{^Þ ê$nm| H$m dU©Z H$s{OE & 5 

(I) CXmhaU XoVo hþE X§S> H$m à`moJ H$aZo Ho$ {gÕm§Vm| H$s 

ì`m»`m H$s{OE & 15 
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7. (H$) embmnyd© H|$Ð _| ^rVar ñWmZ H$s ì`dñWm H$aVo g_` 

Amn {OZ nm±M nhbwAm| H$mo Ü`mZ _| aI|Jo CZH$m 

dU©Z H$s{OE & 10 

(I) {ZåZ{b{IV àË`oH$ Ho$ {bE Amn {Og EH$ J{V{d{Y 

H$s `moOZm ~ZmE±Jo, CgH$m dU©Z H$s{OE : 5+5=10 

(i) EH$-dfu` ~ƒo _| Am±I-hmW Ho$ ~rM g_Ýd` 

H$mo ~‹T>mdm XoZm & 

(ii) VrZ-dfu` ~ƒo _| H$ënZme{º$ H$mo ~‹T>mdm  

XoZm & 

 


